inj4g):= Array[c, 1007;
Array[b, 1007;
n = 10;
YIX_1 = ((Csc[Sqrt [2]] Sin[Sqrt [2] X]) -X) /2;
pl 1 =Plot[y[x], {x, 0, 1}, PlotRange -» {0, 0.1}, AxesLabel - {"x", "y (x)"}1]
k:l;
Wiile[(k< n+1),
c[k] =Integrate[x Sgrt [2] Sin[k Pi x], {x, 0, 1}1;

Ik = (kPi) 2
brk] =c[k] 7/ (1 k=-2);
k = k +17;

s1[x_] =Sum[c[k] Sqrt [2] Sin[k Pi x], {k, 1, n}];

dl[x_] = Abs[s1l[x] -X]I;

Pl ot [d1[x], {x, 0, 1}, PlotRange » {0, 1}, AxesLabel - {"x", "d1(x)"}]

s2[x_] =Sum[b[k] Sgrt [2] Sin[k Pi x], {k, 1, n}1;

pl 2 =Pl ot [s2[x], {x, O, 1}, PlotRange -» {0, 0.1}, PlotStyle » Dashing[{0.05, 0.05}1]
Show[pl 1, pl 2]

Pl ot [Abs[y[x] -s2[x]], {x, 0, 1}]
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